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379 — 200 75 + 35

Andrew is putting eggs into cartons
Each carton holds 6 eggs.
Andrew has 48 eggs.

How many cartons can Andrew fill?

The bar chart shows how children at a
primary school travelled to school each
morning

120

100
80 +

Number of
children

40

20 +

0

How many children travelled to school by
bicycle?

Car  Bus Walk Train Bicycle

How many more children travelled to
school by walking than by train?
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929 -1

Rosie has 800 millilitres of milk in a bottle

She pours some milk into two measuring
jugs.

200ml ——

1 T
100ml ——

How much milk has Rosie poured into the
measuring jugs in total?

How much milk does Rosie has left in the
bottle?

Write the three missing digits to make the
addition correct

64E0E)
+ (8200

88Ul




Name: Primary 5-a-day Gold £
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3
3 X — 75,390 + 16,998
10
How many times larger is the area of
County Area Yorkshire than the area of
Yorkshire 15,000 km? Huntingdonshire?
Huntingdonshire | 1,000 km?®

In June, Spencer collects 3, 4 or 5
strawberries from his greenhouse.

In the first 17 days, Spencer collects 76
strawberries.

What is the greatest number of
strawberries that Spencer can collect in
June?

Find three different prime numbers with a
sum of 40.

+ | =40

prime number

| +|

prime number

prime number

HINT: Prime numbers can only be divided by themselves and 1.
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40 =~ 8 30 x5

Complete the tally chart

O I:‘ O Shape | Tally | Frequency
O I:I A A O O Circle _

Pentagon

Square

Triangle

How many faces does a triangular prism
have?

There are 60 people on a coach.

At the next stop, 47 people get off the
coach and 38 people get on the coach.

How many people are on the train now?
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88 ~ 11 7xX4x10

Here is a shape on a grid.

Complete the design so it is symmetrical
about the mirror line

mirror line

3
Shade in = of the grid.
10
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1.04 x 1,000

g8 7 9 2

Edward has drawn a 3-D shape.
His shape has 6 vertices.
It has 9 edges.
It has 5 faces.

What 3-D shape has Edward drawn?

Martin finished a 10 kilometre race in
47 minutes 13 seconds.

Dean finished 9 minutes 54 seconds after
Martin.

How long did Dean take? min sec

Calculate the size of angle x

\ 35°

HINT: REMEMBER The isosceles triangle above has 2 equal sides and 2 equal
angles.



